HE AMESH AN

20194F

BIEER: NO2
48 58 68 78 8H 98 108 118 128 18 28 38 REt
LIz ER H ABEAR 20 31 30 29 30 30 3 173
SR 7E B R 529 736 716 715 732 713 85 4226
34 {E (ppm) 0.006 0.005 0.004 0.004 0.005 0.005 0.007 0.005
1 BF R iE D == /= i (ppm) 0.022 0.022 0.015 0.020 0.030 0.022 0.016 0.030
B F 1B O & &= {E (ppm) 0.011 0.009 0.006 0.007 0.008 0.008 0.009 0.011
1B R {EAY0.2ppm % #B X 1= RERE 51 0 0 0 0 0 0 0 0
1B R {E AY0.1ppm L1 E0.20pm L1 T D BERE 3% 0 0 0 0 0 0 0 0
B F{BA%0.06ppmZ #E Z 7= H £ 0 0 0 0 0 0 0 0
B 3 5 A%0.04ppm LA_E 0.06ppm LA T D H 3 0 0 0 0 0 0 0 0
LI BR HahiflE B 23 28 31 31 29 1 143
A 7E B R 555 686 739 739 692 23 3434
F #5{E(ppm) 0.006 0.007 0.010 0.010 0.008 0.005 0.008
1B 1B O £ = {B (ppm) 0.021 0.024 0.032 0.032 0.035 0.010 0.035
B {8 D & B (ppm) 0.012 0.014 0.021 0.022 0.018 0.005 0.022
1B RS {E £30.2ppmZ B X T-BF R 3R 0 0 0 0 0 0 0
1B R {E A30.1ppm 2L E0.2ppm UL T D BE RS 3X 0 0 0 0 0 0 0
B 1 {EAH%0.06ppmZ B Z 1= H 2 0 0 0 0 0 0 0
B 5 {EA30.04ppm LA _E£0.06ppm L T D H 3 0 0 0 0 0 0 0
XEZHH ABEBAR 30 31 30 21 18 31 31 29 31 252
B 7E B R 710 738 714 508 438 737 737 690 738 6010
34 {E (ppm) 0.005 0.004 0.004 0.003 0.008 0.010 0.010 0.009 0.006 0.007
1B B O & = {iE (ppm) 0.020 0.014 0.012 0.008 0.026 0.033 0.033 0.038 0.024 0.038
B F 1B D i &= {E (ppm) 0.010 0.007 0.007 0.005 0.014 0.020 0.022 0.022 0.012 0.022
1B R {EAY0.2ppmZEF #B X 1= RS RE 51 0 0 0 0 0 0 0 0 0 0
1B RR{EAY0.1ppm L1 E0.20pm L1 T D BERE 3% 0 0 0 0 0 0 0 0 0 0
B F#{BA%0.06ppmZ#E Z 7= H £ 0 0 0 0 0 0 0 0 0 0
B 3 5 A%0.04ppm LA_E 0.06ppm LA T D H 3 0 0 0 0 0 0 0 0 0 0
LA HahiflE B 28 29 30 29 31 30 31 12 10 31 261
8 7 B 689 720 715 713 734 714 739 297 253 738 6312
F #5{E(ppm) 0.003 0.002 0.002 0.002 0.002 0.002 0.003 0.003 0.004 0.004 0.003
1B 1B O £ = {B (ppm) 0.011 0.006 0.007 0.006 0.005 0.009 0.012 0.012 0.016 0.020 0.020
B {8 D & B (ppm) 0.005 0.004 0.004 0.003 0.003 0.005 0.008 0.007 0.005 0.011 0.011
1B R {E £30.2ppm% B X T-BF T 3R 0 0 0 0 0 0 0 0 0 0 0
1B R {E AY0.1ppm 2L E0.2ppm UL T D B RS 3X 0 0 0 0 0 0 0 0 0 0 0
B F #){EH%0.06ppmZ#E Z 1= H £ 0 0 0 0 0 0 0 0 0 0 0
B 5 {EA30.04ppm LA _E£0.06ppm L T D H 3 0 0 0 0 0 0 0 0 0 0 0
ELIAR ABEBAR 28 31 30 29 31 30 29 30 31 29 29 31 358
B 7 B 690 739 712 716 738 713 713 716 737 716 690 735 8615
34 {E(ppm) 0.003 0.002 0.002 0.002 0.003 0.003 0.003 0.004 0.006 0.006 0.005 0.003 0.004
1B B O & = {iE (ppm) 0.020 0.008 0.024 0.008 0.013 0.019 0.015 0.020 0.021 0.030 0.025 0.013 0.030
B F 1B O & &= {E (ppm) 0.005 0.004 0.004 0.004 0.005 0.006 0.007 0.008 0.011 0.016 0.013 0.006 0.016
1B R {EAY0.2ppm % #B X 1= RS RE 51 0 0 0 0 0 0 0 0 0 0 0 0 0
1R {EAY0.1ppm L E0.2ppm LA T D FERE 3L 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#{BA%0.06ppmZ #E Z 7= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B 3 5 {EA%0.04ppm LA_E 0.06ppm LA T D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0




#ILI#ERE & /A ABEAR 28 29 30 29 31 29 31 28 31 29 29 31 355
B 7 B R 690 721 714 714 735 706 739 689 737 715 690 738 8588
34 {E(ppm) 0.003 0.002 0.002 0.002 0.002 0.002 0.003 0.003 0.005 0.005 0.005 0.004 0.003
1B B O & = {iE (ppm) 0.013 0.008 0.006 0.007 0.006 0.010 0.012 0.015 0.021 0.027 0.042 0.019 0.042
B F 1B O & &= {E (ppm) 0.005 0.004 0.004 0.004 0.003 0.004 0.006 0.008 0.014 0.016 0.019 0.011 0.019
1B R {EAY0.2ppmZEF #B X 1= BERE 51 0 0 0 0 0 0 0 0 0 0 0 0 0
1R {EAY0.1ppm L E0.2ppm LA T D FERE 3L 0 0 0 0 0 0 0 0 0 0 0 0 0
B F5{BA%0.06ppmZ #E Z 7= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B 3 5 A%0.04ppm LA_E 0.06ppm LA T D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
KiR&Eith HahiflE B 28 31 30 29 31 30 29 30 31 29 29 31 358
8 7 B 688 740 715 713 738 718 718 718 737 717 689 735 8626
F 5{E(ppm) 0.004 0.003 0.002 0.002 0.002 0.002 0.003 0.005 0.008 0.006 0.006 0.005 0.004
1B R 1B O £ = {B (ppm) 0.017 0.010 0.010 0.009 0.010 0.011 0.017 0.026 0.031 0.028 0.040 0.029 0.040
B ¥ {E D & B (ppm) 0.006 0.005 0.004 0.003 0.004 0.004 0.009 0.011 0.018 0.012 0.017 0.012 0.018
1B R {E £30.2ppm% B X T-BF T 2R 0 0 0 0 0 0 0 0 0 0 0 0 0
1B R AY0.1ppm 2L E0.2ppm UL T D B RS 3X 0 0 0 0 0 0 0 0 0 0 0 0 0
B F #){EH%0.06ppmZ#E Z 1= H £ 0 0 0 0 0 0 0 0 0 0 0 0 0
B 5 {EA30.04ppm LA _E£0.06ppm L T D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
EHEH ABEBAR 28 31 30 29 31 30 29 30 31 31 29 31 360
B 7E B R 685 740 710 713 735 713 713 715 738 740 689 737 8628
34 {E (ppm) 0.003 0.003 0.002 0.002 0.002 0.003 0.003 0.004 0.006 0.005 0.004 0.003 0.003
1B B O &% = {iE (ppm) 0.017 0.014 0.008 0.008 0.008 0.013 0.014 0.022 0.026 0.023 0.025 0.022 0.026
B F 1B O & &= {E (ppm) 0.005 0.005 0.003 0.003 0.003 0.005 0.006 0.009 0.013 0.011 0.010 0.007 0.013
1B R {EAY0.2ppmZEF #B X 1= BERE 51 0 0 0 0 0 0 0 0 0 0 0 0 0
1R {EAY0.1ppm L E0.2ppm LA T D FERE 3L 0 0 0 0 0 0 0 0 0 0 0 0 0
B F{BA%0.06ppmZ #E Z 7= H £ 0 0 0 0 0 0 0 0 0 0 0 0 0
B 3 5 A%0.04ppm LA_E 0.06ppm LA T D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
SEHER HahiflE B 28 31 30 29 31 30 29 30 31 29 29 31 358
8 7 B 690 739 715 712 737 714 714 714 737 716 690 738 8616
F #5{E(ppm) 0.003 0.003 0.002 0.002 0.002 0.002 0.003 0.003 0.003 0.004 0.003 0.003 0.003
1B 1B O £ = {B (ppm) 0.023 0.015 0.012 0.007 0.009 0.012 0.022 0.019 0.027 0.026 0.022 0.030 0.030
B ¥ {E D & B (ppm) 0.005 0.005 0.004 0.003 0.003 0.004 0.005 0.008 0.011 0.008 0.009 0.009 0.011
1B RS {E £30.2ppmZ B X T-BF R 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
1B R {E A30.1ppm L E0.2ppm UL T D B RS 3X 0 0 0 0 0 0 0 0 0 0 0 0 0
B F #){EH%0.06ppmZ#E Z 1= H £ 0 0 0 0 0 0 0 0 0 0 0 0 0
B 5 {EA30.04ppm LA _E£0.06ppm L T D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
RS E ABEBAR 28 31 30 29 31 30 29 30 31 29 29 31 358
B 7E B R 695 739 716 709 738 714 717 714 738 714 690 738 8622
4 {E (ppm) 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.003 0.003 0.003 0.002 0.002
1B iE O & = {E (ppm) 0.047 0.013 0.014 0.011 0.010 0.008 0.017 0.016 0.023 0.021 0.019 0.021 0.047
B F 1B O & &= {E (ppm) 0.007 0.004 0.004 0.004 0.003 0.003 0.003 0.006 0.008 0.007 0.007 0.006 0.008
1B R {EAY0.2ppmZEF #B X 1= RS RE 51 0 0 0 0 0 0 0 0 0 0 0 0 0
1R {EAY0.1ppm L E0.2ppm UL T D FERE 3L 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#{BA%0.06ppmZ#E Z 7= H £ 0 0 0 0 0 0 0 0 0 0 0 0 0
B 3 5 A%0.04ppm LA_E 0.06ppm LA T D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0




SEE LR ABEAR 28 31 30 29 31 30 29 30 31 29 29 31 358
B 7 B R 696 738 716 709 738 715 714 713 740 717 691 740 8627
34 {E(ppm) 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.001 0.002 0.001 0.001
1B B O & = {iE (ppm) 0.012 0.007 0.009 0.006 0.010 0.009 0.006 0.009 0.008 0.007 0.011 0.006 0.012
B F 1B O & &= {E (ppm) 0.004 0.003 0.003 0.002 0.003 0.003 0.003 0.003 0.004 0.003 0.004 0.002 0.004
1B R {EAY0.2ppmZEF #B X 1= BERE 51 0 0 0 0 0 0 0 0 0 0 0 0 0
1R {EAY0.1ppm L E0.2ppm LA T D FERE 3L 0 0 0 0 0 0 0 0 0 0 0 0 0
B F5{BA%0.06ppmZ #E Z 7= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B 3 5 A%0.04ppm LA_E 0.06ppm LA T D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
EE HahiflE B 28 31 30 29 31 30 29 30 31 29 29 30 357
8 7 B 693 739 715 714 737 713 715 712 737 716 690 733 8614
F 5{E(ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.002 0.002 0.001
1B R 1B O £ = {B (ppm) 0.008 0.007 0.016 0.013 0.008 0.007 0.007 0.014 0.017 0.018 0.032 0.019 0.032
B ¥ {E D & B (ppm) 0.003 0.002 0.003 0.003 0.003 0.003 0.003 0.003 0.005 0.006 0.007 0.004 0.007
1B R {E £30.2ppm% B X T-BF T 2R 0 0 0 0 0 0 0 0 0 0 0 0 0
1B R AY0.1ppm 2L E0.2ppm UL T D B RS 3X 0 0 0 0 0 0 0 0 0 0 0 0 0
B F #){EH%0.06ppmZ#E Z 1= H £ 0 0 0 0 0 0 0 0 0 0 0 0 0
B 5 {EA30.04ppm LA _E£0.06ppm L T D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
EE] ABEBAR 28 31 30 29 31 30 31 28 31 29 17 315
B 7E B R 692 739 715 716 738 714 739 689 738 715 413 7608
34 {E (ppm) 0.003 0.003 0.002 0.002 0.002 0.002 0.003 0.003 0.003 0.004 0.004 0.003
1B B O &% = {iE (ppm) 0.016 0.009 0.006 0.008 0.007 0.008 0.015 0.016 0.023 0.025 0.022 0.025
B F 1B O & &= {E (ppm) 0.005 0.004 0.003 0.003 0.003 0.004 0.004 0.006 0.006 0.006 0.010 0.010
1B R {EAY0.2ppmZEF #B X 1= BERE 51 0 0 0 0 0 0 0 0 0 0 0 0
1B R {EAY0.1ppm ELE0.20pm L1 T D BERE 3% 0 0 0 0 0 0 0 0 0 0 0 0
B F{BA%0.06ppmZ #E Z 7= H £ 0 0 0 0 0 0 0 0 0 0 0 0
B 3 5 A%0.04ppm LA_E 0.06ppm LA T D H 3 0 0 0 0 0 0 0 0 0 0 0 0
#EfE SR AT HahiflE B 28 31 30 29 31 30 31 28 31 29 29 31 358
8 7 B 689 738 715 715 738 714 739 689 737 712 687 735 8608
F #5{E(ppm) 0.003 0.003 0.003 0.002 0.002 0.002 0.003 0.003 0.005 0.004 0.004 0.003 0.003
1B 1B O £ = {B (ppm) 0.020 0.015 0.008 0.008 0.007 0.012 0.020 0.024 0.030 0.026 0.030 0.020 0.030
B ¥ {E D & B (ppm) 0.006 0.005 0.004 0.004 0.004 0.004 0.009 0.009 0.015 0.011 0.015 0.009 0.015
1B RS {E £30.2ppmZ B X T-BF R 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
1B R {E A30.1ppm L E0.2ppm UL T D B RS 3X 0 0 0 0 0 0 0 0 0 0 0 0 0
B F #){EH%0.06ppmZ#E Z 1= H £ 0 0 0 0 0 0 0 0 0 0 0 0 0
B 5 {EA30.04ppm LA _E£0.06ppm L T D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
HETH ABEBAR 28 31 30 29 31 30 29 30 31 29 29 31 358
B 7E B R 690 737 712 711 738 714 715 713 738 716 690 738 8612
4 {E (ppm) 0.003 0.002 0.002 0.002 0.002 0.002 0.003 0.004 0.007 0.006 0.006 0.004 0.004
1B iE O & = {E (ppm) 0.016 0.014 0.006 0.005 0.007 0.009 0.021 0.023 0.029 0.030 0.035 0.022 0.035
B F 1B O & &= {E (ppm) 0.007 0.005 0.003 0.003 0.003 0.005 0.008 0.008 0.017 0.014 0.017 0.007 0.017
1B R {EAY0.2ppmZEF #B X 1= RS RE 51 0 0 0 0 0 0 0 0 0 0 0 0 0
1R {EAY0.1ppm L E0.2ppm UL T D FERE 3L 0 0 0 0 0 0 0 0 0 0 0 0 0
B F#{BA%0.06ppmZ#E Z 7= H £ 0 0 0 0 0 0 0 0 0 0 0 0 0
B 3 5 A%0.04ppm LA_E 0.06ppm LA T D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
I ANITES HahiflE B 28 31 30 29 31 30 31 28 31 31 29 31 360
8 7 B 689 740 716 713 740 714 740 691 736 740 692 739 8650
F #5{E(ppm) 0.012 0.009 0.008 0.006 0.006 0.007 0.009 0.012 0.016 0.014 0.014 0.011 0.010
1B 1B O £ = {B (ppm) 0.034 0.038 0.024 0.021 0.025 0.026 0.028 0.034 0.039 0.040 0.042 0.038 0.042
B {8 D & B (ppm) 0.019 0.016 0.013 0.009 0.009 0.013 0.016 0.022 0.028 0.027 0.027 0.022 0.028
1B R {E £30.2ppmZ B X T-BFRH 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
1B R AY0.1ppm L E0.2ppm UL T D B RS 3X 0 0 0 0 0 0 0 0 0 0 0 0 0
B F #){EH%0.06ppmZ#E Z 1= H £ 0 0 0 0 0 0 0 0 0 0 0 0 0
B 5 {EA30.04ppm LA _E£0.06ppm L T D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0




